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QUESTION 1

The commerce step "Pending” has four participant profiles in the following order: SalesRep, SalesManager, Owner, and
Admin. The Admin profile allows access with the FullAccess user type. The Owner profile has at performer steps "start"
step selected. The step has an auto-forwarding rule. A FullAccess user with the SalesGroupA and SalesManagerA
groups creates a new quote and saves it, which moves the quote to "Pending." The auto-forwarding rule returned the
following two lines: SalesManagerA~Company~SalesManager SalesGroupA~Company~SalesRep

Which profile will be used to display the quote in the "Pending" step to this user?

A. SalesManager profile

B. Owner profile

C. Admin profile

D. SalesRep profile

Correct Answer: D

QUESTION 2

You want to control the information that can be viewed on the transaction page. What must you create to accomplish
this?

A. Constraint Rules

B. Transition Rules

C. Participant Profiles

D. Internal User Definitions
E. Library Functions

Correct Answer: C

QUESTION 3

Which two statements are true about Formulas? (Choose two.)

A. Both attributes and library functions can be used as inputs for Formula Management.
B. Only attributes can be used as inputs for Formula Management.

C. Formulas can set both transaction- and line-level attributes.

D. Formulas cannot be run in sequence to perform multi-step calculations.

Correct Answer: CD
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QUESTION 4

Which attribute type cannot be displayed on the line item grid?
A. Single-select menu attributes

B. Currency attributes

C. HTML attributes

D. Text attributes

Correct Answer: C

QUESTION 5

What are three valid reasons for a Configuration rule failing to execute? (Choose three.)
A. A runtime error occurs within the rule, which is firing before the current rule.

B. The status of the rule is set to Inactive.

C. The rule\\'s Condition attributes are hidden in Configuration Layout.

D. The attributes used in the rule are not added in Configuration Layout.

Correct Answer: BCD
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